M3x0.5 - 6H V¥ 8.00
M6x1 - 6H ¥ 12.00 - 260 20.00 >1:50—=
Detection /7 + 17.00 _—( ~=—23.50
¥ ; — —-m— - o
( : ~ T ;; E“——“-ﬂl ,—R24.80 [———ﬁ-ﬁ- i ——
§§ O§ % § ©ale—1.10 | O o |
N i
'] 1.00 | - .
T o [ 8 8 o 8 | 3‘._4 ID_
— O IS =
H— 823 = N | E—— ——t=
_ S Y | e — v C ___:|:_
5 o o - a0 = E | o o |
k= o .
N J |4 i 3 | l“——,{q:zr _
«—70.00 *26.50 8.25 =] |=— \ M4x0.7 - 6H ¥ 8.00
-~ 123.00————= 1.10 —=f=— ?35.00 1296 —= == [=41.50-~
©28.20
M3x0.5 - 6H ¥ 6.00
DRAWN
Charlene Brillard 7/7/2021
CHECKED
5 TITLE
X-OpenSPIM
MFG
SAMPLE CHAMBER HOLDER
APPROVED
SIZE DWG NO REV
A4 1 1
SAALE 173 SHEET 1 OF 1




